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Each question will tell you a fact about your teacher.
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1.) The table below shows the average height of a tree and the amount of years that it has been cen 7 9 (ﬂj»cu Dc 0,

I/‘ L,)/ growing. P/ 5 !f) Pé’/ 9 % D‘ Ci n&’ i<
Time Helght What is the@verage rate of chang\eh; height of the tree frc.i1 Year 10to ! D
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Mrs. Jessup started her education at ; Elementary School: b 5
10 7 A. 1 foot per year London O?W“ U 5e€ \
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C. 1.5 feet per year Riverside ON Hhoo

AR ST TS E L A s

2 |10 (D._2feet per year ~Tume _gsp Soeen.
13 12 On Qalcuﬂcmkoié D? (?; Th ) MN’WI Eclit
Afler You-ender into Ly and Lz
“,_ 2;_? e D\O )L:s T Koy armw rgd 2] o Cede, Hhan

Ue)in reg.

) ]oey compared the y-intercept of the graph of the function f(x) = 2x + 3 to the
y—mterce]ft of the graph of the linear function that mcludes the points in the table below.

=
X g(x) What is the difference when the y-intercept q((x) is subtracted from the y<
i 7 y;
3| 20| Intercept of f(x)? P ;g,f _ D
6 35 * Mrs. Jessup grew up with
A2 one si o1 L=
9| 50 B, - " one sister anﬁgne btoth@
12 . no S|bllngs
D. 12 one brother

g(x\ 5)&*5

3.) The table below shows the amount cars having been through the gas station for the hours it is

open.
Hours SR - 6 9. 12 15
Open . y X
Cars 60 U 120 ¢ 180 240 300
. o
[
What is the meaning of the slope of the linear model for the data? Ulq > \Do% at! b value l( JOM use-
(] X
AVES QJU She celebrates her birthday on \9
m (D j A. The gas station is open 20 hours for every car it serves. August 10 -
B. The gas station serves 1 car every 20 minutes. November 10
= (QD C. The gas station serves 60 ) cars per hour. January 10
B (p Thgﬂggf statlon serves 20 cars ‘per hour '»3 December 10
Q&‘ufs B ——
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4.) The table below shows the cost of a sub sandwich based on the number of extras ordered.
Which function represents the cost of a sub sandw1ch with n extras added

Number of Cost (C) | on? L@ s O()(JVLO ﬂ___ D b=5

Extras (n)

1« $5,50 * chool, MrsJessup sometimes drives a

) Ford F-150 truck
2 i B. C(n) = 5n + 0.50 Chevrolet 1500 truck
3 $6.50 C. C(n)=0.50n + 5.50 Toyota Tundra truck
4 ~ |$7.00 D. C(n)=0.50n ~ Dodge Ram truck

Use. (O‘J{%ﬂt 10 bushes 730bu<lws>

5.) There were originally 10 bushes in Mitc II's nursery. Eac ye/r the ghtc elld planted the same

number of bushes. In the 18th year, there were 280 bushes. Which function b(n), can be used to

determine the number of bushes in the nursery in any particular year? Lj = (5)( + | O

* March Madness... she is a _fan.

(A b ) = 15,{'% Kentucky C. b(n)=280/18n + 10 North Carolina
B b(n) =18n - 10 Duke ~ D. b(n)=18n+10 Tennessee

6.) The sequence below shows the total number of tgays Katrma went swimming by the end of
gsl/i 3, a@her new workout routine.

( 3,5,7,9,.. .
Which functlon could be used to find the total number of days Katrina sw1ms at the end of week, w,
if her pattern continues? kjj: Q )SS ‘
*In her spare time Mrs. Jessup likes to'hunt and show coonhounds
A. S(w)=5w-2 Treeing Walker &8 ;M)gmmg% +1 s (éwg hish
B. Sw)=w+2 English” D. S(w)=5w+2  Bluetck
7.) The table below shows the pant§ size and age of 5 boys. P jr e (Jr{,chJG on \j = @ 8)( + oo %telfsp
Pants Size (Toddler Age (years) Pie c\U“é’(ﬁ / LDDaJo I )
|, Sizes e T) j ol : 0, - b _j_u_&uw
3 3 [ S
2 3 3-35= 03
5 6 (-le= 1Y
6 5 55, - i
7 6 (==l

Approximately what percent of the boys’ ages is more than 1 year different from the age predicted
by the line of best fit?

* Mrs, Jessup's favorite flavor of ice cream is , . 0 s
. 20%__......Buiter.Pecan > Oh\ | s more
B. 40% Cookies & Cream 2, P,edulcdl]
C. 60% Mint Chocolate Chip J

D. 80% Chocolate /L/ ) b= 20 /,
) ’WD‘ (0



8.) The scatterplot below shows the number of division errors students made on a test and the
amount of time they took to take the test.
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9.) What type of correlation is shown in the table? (LZ”{\ o C‘d“wﬂ J”)
Sugar (grams) | Weight (pounds) @)(_ s Di Qgﬂ(ﬁjrisa'\ ‘HUUI D“U‘ Bl s
40 125
L A Look at 'r'yalue
110 160 Yz (}Q/ckb .
90 175 208
55 157 bo 12607
96 172 e L
50 160 =ou Qg

* Mrs. Jessup favorite kind of cookie is

chocolate chip C Strong negative shickerdoodle

peanut butter §)  D. Weak negative an oreo
10.) The table below shows the number of hours that Tammy worked during 5 days and the amount of d
tips she earned. | , L, o = 15,59 X—%% Lme ol Be
Hours Worked (x) | Tips Earned (y) Tredicked Tips % ¢
6 71 W68 | “P»d equation
7 90 iy L*O**”-Z"@ iy, =
8 82 —072. % « Use Table
4 26 .___5_@::_@ ......
6 55 (1. L8

What is the difference between the observed and predicted value of working 7 hours?

* The answer to this question is how many states Mrs, Jessup will have travelled through

or to in her lifetime.




